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QUESTION 1

In a VPN that uses certificate-based authentication, which component must be configured on the Mobility Master (MM)
to allow a RAP to successfully connect to a Mobility Controller (MC) 

A. RAP VPN username and password 

B. WLAN and new RAP group 

C. RAP IPSec pre-shared key 

D. RAP whitelist 

Correct Answer: D 

 

QUESTION 2

An administrator configures the MultiZone feature for a company network, where a mobility cluster is the primary zone
and a standalone controller in the company\\'s DMZ represents a secondary data zone. The administrator configures
two AP Groups and respective VAPs for the zones on the Mobility Master (MM) in the primary zone. When the APs boot
up and establish connections to both zones, the administrator notices that no data connections are established to the
data zone. 

What must the administrator do to fix this problem? 

A. Configure the same AP Groups and VAPs on the standalone controller, and associate the MultiZone APs to both
groups. 

B. Configure the same AP Group in the data zone as it is in the primary zone, and configure the VAPs in the data zone. 

C. Have the MultiZone APs initially boot from the standalone controller in the data zone. 

D. Create different AP groups and VAPs on the Mobility Master and standalone controllers, and associate the MultiZone
APs to both groups. 

Correct Answer: D 

 

QUESTION 3

Refer to the exhibit. 
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Based on the configuration of me create_user form shown, which statement accurately describes the status? 

A. The email field will be visible to guest users when they access the web login page. 

B. The visitor_company field will be visible to operators creating the account. 

C. The visitor_company field will be visible to the guest users when they access the web login page. 

D. The visitor_phone field will be visible to the guest users in the web login page. 

E. The visitor_phone field will be visible to operators creating the account. 

Correct Answer: A 

 

QUESTION 4

Which is a valid policy simulation types in ClearPass? (Select three.) 

A. Enforcement Policy 

B. Posture token derivation 

C. Role Mapping 
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D. Endpoint Profiler 

E. Chained simulation 

Correct Answer: ACE 

 

QUESTION 5

Which statement is true about the Endpoint Profiler? (Select two.) 

A. The Endpoint Profiler uses DHCP fingerprinting for device categorization. 

B. Data obtained from the Endpoint Profiler can be used in Enforcement Policy. 

C. Endpoint Profiler requires a profiling license. 

D. The Endpoint Profiler requires the Onboard license to be enabled. 

E. The Endpoint Profiler can only categorize laptops and desktops. 

Correct Answer: AB 

 

QUESTION 6

What must an OSPF router do when it receives a link state update? 

A. It must participate in a new election for the Designated Router and Backup DR. 

B. It must initiate a graceful restart timer. 

C. It must re-establish adjacency with its Designated Router and Backup DR. 

D. It must run the shortest path first algorithm. 

Correct Answer: D 

 

QUESTION 7

Refer to the exhibit. 
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Based on the Policy configuration shown, which VLAN will be assigned when a user with ClearPass role Engineer
authenticates to the network successfully on Saturday using connection protocol WEBAUTH? 

A. Deny Access 

B. Employee VLAN 

C. Internet VLAN 

D. Full Access VLAN 

Correct Answer: B 

 

QUESTION 8

An administrator deploys Aruba Mobility Controller 7005s to a company\\'s branch offices. The administrator wants to
disable the console port to prevent unauthorized access to the controllers. 

Which controller command should the administrator use to implement this policy? 

A. no console enable 

B. no mgmt-user console 

C. mgmt-user console-block 

D. console disable 

Correct Answer: C 

 

QUESTION 9
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An administrator supports a RAP to a branch office. Employees at the branch office connect to an employee SSID that
allows for split tunneling of the employee traffic. The RAP initially connects to the corporate office controller, but later
loses connectivity to it. 

Which operating mode should the administrator configure for a secondary SSID to be advertised during the loss of
connectivity? 

A. Standard 

B. Persistent 

C. Always 

D. Backup 

Correct Answer: B 

 

QUESTION 10

Refer to the exhibit. 

The network administrator wants to reduce failover time If a switch link m VIAN 100 goes down. What should the
administrator do? 

A. Configure echo mode BFD on VLAN 100 on all OSPF routing devices on VLAN 100. 

B. Lower the dead timer on the BDR of VLAN 100. 

C. Lower the hello timer only on the BDR of VLAN 100. 

D. Configure graceful restart on all of the OSPF routing devices on VLAN 100. 
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Correct Answer: A 
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